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1{a) Match the graphs of the functions shown in (a)—(f) with the graphs of their derivatives in

(A)(F).
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1(b) Sketch the graph of the derivative of each function shown below:
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2(a) Explain why the function

f@) = {3x—~1 r<1

z2 z>1

is not continuous at = = 1. {It may be helpful to draw a graph.]
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(b} Find a constant k& that makes the function

(z) Jz—1 <1
)y =
g k2?2 oz > 1

continuous at z = 1.
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d
3(a) Use implicit differentiation to find ﬁ for the curve y® + yz? + 22 — 3% = 0.
(b) Find an equation of the tangent line to the curve at the point (0,3).
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4. Calculate each derivative j_y

(a) y = («* + 2)(z* — 2)
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(c) y = cos{cos z) -
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(d) y = cos’(3v/x)
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5(a) Here is some information about a function f(z):

z | f(z) | f{z)
2] 1 7
8 5 | 3

Define g(z) = {f(z))? and h(x) = f(z*). Use the Chain Rule to calculate ¢'(2) and &'(2).

2(1) 7 :ZEgE)

(=312 = [~ 36

Sf(y) = S/\C(x))L—P/(K)
cb’ () = 3 £ov) 0

£l

' Ix) = @’/ﬂg)‘ 3t
hiony = £708) 0 30)

i1

tanz

x

- " \ J~ C[siex )
/A ﬁ_f - )i 5 K = /m;(’f)[gﬂ()

X-70 X X0 K €T X ~>o

(b) Find il_tﬁ)

, and include (briefly) your reasoning.
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